
3 Find the Vaue of s 

pa x 2ar (P-S,9: 3,7) 
yx 5x x 2x 2 60 

(7ay,26) 

x e 2 

R+b-C - C. Ca 5, b b 7,C 2 
a 

5+7-2 J22 pel 
AS 



Simplit 
-(S+2) i lomtn-3n)-Sn 

t0 m -5n 
5 -l0 m=In 

y Li5b-66)-(8b+46) vF-Ha-ga) 
6-l2b_ 

=-3b 
(-1aa) 
1a 

v-(-)-+Y) v P+(-9-T-3)-(0-9 
-4+ P---S -P444 

-S 

viatb)-(Cd)-le-f) vi 3a+Cea-5nyl20tb-C-d-e +f_ 



ixa-a-b-c) x6a+(2a-a)-(a-6) 
6at 0- aZ4h2 

bt C 6a thL 

Xi2m-(3m 4+2n-6n) xt)-m-n--m)- m 
m- 3m-An+6n 

-mtn m-n

XinX+ y-(1+g-1) 
AY{= 

-

Xiv 2Sy 52-Oy+6x-2 
25y 51 t 10-6atly 
tDytiu-Sn-6n 

=ady-(1+9-2 

Xvi a-Ra- a+ 3a) 
a-a-Ha-3a) 
a-2a+ Ya+ 3a 

Xv3+(2-2+3) Sa 

314 2--2 

Wi--2)-(ty224 
-(u-aty-1-y 
-utd-At1+ 

2ya-2 

i5-(3n--4) 

5 (3a+1+4) 
5 L=3a 



EXERCISE -30 (c) 
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